

On Certain Type of Difference Polynomials of Meromorphic Functions

ZHANG Ranran¹ and HUANG Zhibo²

¹Department of Mathematics, Guangdong University of Education, Guangzhou 510303, China.
E-mail: zhangranran@gdei.edu.cn

²Corresponding author. School of Mathematical Sciences, South China Normal University, Guangzhou 510631, China. E-mail: huangzhibo@scnu.edu.cn

Received January 5, 2018; in final form, October 7, 2018

Abstract—In this paper, the authors investigate zeros of difference polynomials of the form $f(z)^n H(z, f) - s(z)$, where $f(z)$ is a meromorphic function, $H(z, f)$ is a difference polynomial of $f(z)$ and $s(z)$ is a small function. The authors first obtain some inequalities for the relationship of the zero counting function of $f(z)^n H(z, f) - s(z)$ and the characteristic function and pole counting function of $f(z)$. Based on the above inequalities, the authors then establish some difference analogues of a classical result of Hayman for meromorphic functions.

2000 Mathematics Subject Classification: 30D35, 39A10

DOI: 10.3103/S0898511119020029

Keywords: Difference polynomial, Meromorphic function, Value distribution

1. INTRODUCTION

Let $f(z)$ be a meromorphic function in the complex plane \mathbb{C} . We assume that the reader is familiar with the basic notions of Nevanlinna's theory (see [1–2]). We use $\sigma(f)$ to denote the order of growth of $f(z)$, $\sigma_2(f)$ to denote the hyper order of $f(z)$, and $\delta(\infty, f)$ to denote the Nevanlinna deficiency of $f(z)$.

Many authors have been interested in the value distribution of differential polynomials of meromorphic functions and obtained fruitful results. In particular, Hayman proved the following results.

Theorem A. (see [3]) If $f(z)$ is a transcendental entire function and $n \geq 2$, then $f'(z)f(z)^n$ assumes all finite values except possibly zero infinitely often.

Theorem B. (see [3]) If $f(z)$ is a transcendental meromorphic function and $n \geq 3$, then $f'(z)f(z)^n$ assumes all finite values except possibly zero infinitely often.

The difference analogues of Nevanlinna value distribution theory have been established in [4–8]. Using these theories, many authors considered the value distribution of difference polynomials of entire functions. In particular, the following result can be viewed as a difference analogue of Theorem A.

Theorem C. (see [9–11]) Let $f(z)$ be a transcendental entire function of finite order, and c be a non-zero complex constant. Then for $n \geq 2$, $f(z)^n f(z+c)$ assumes every non-zero value $a \in \mathbb{C}$ infinitely often.

For meromorphic functions, it is easy to see that a direct difference analogue of Theorem B cannot hold. Indeed, take $f(z) = \tan z$. Then

$$f(z)^3 f\left(z + \frac{\pi}{2}\right) = -\tan^2 z$$

never takes the value 1.

A natural question is: What can be said about the conclusion of Theorem B if $f'(z)$ of Theorem B is replaced by $f(z + \eta)$ ($\eta \in \mathbb{C}/\{0\}$)? For this question, the following results are obtained in [12–13].

Theorem D. (see [12]) Let $f(z)$ be a transcendental meromorphic function such that its order $\sigma(f) < \infty$, let η be a non-zero complex number, and let $n \geq 1$ be an integer. Suppose that $P(z) \neq 0$ is a polynomial. Then

$$\begin{aligned} & \bar{N}\left(r, \frac{1}{f(z)^n f(z + \eta) - P(z)}\right) \\ & \geq nT(r, f(z)) + m(r, f(z)) - 2\bar{N}(r, f(z)) - 2\bar{N}\left(r, \frac{1}{f(z)}\right) - N\left(r, \frac{1}{f(z)}\right) + o\left(\frac{T(r, f(z))}{r^{1-\varepsilon}}\right) + O(1), \end{aligned}$$

as $r \notin E$ and $r \rightarrow \infty$, where E denotes a set of finite logarithmic measure.

Theorem E. (see [12–13]) Let $f(z)$ be a transcendental meromorphic function such that its order $\sigma(f) < \infty$, let η be a non-zero complex number, and let $n \geq 6$ be an integer. Suppose that $P(z) \neq 0$ is a polynomial. Then $f(z)^n f(z + \eta) - P(z)$ has infinitely many zeros.

We pose three questions related to Theorems D and E.

Question 1. What happens if $f(z + \eta)$ is generalized to difference polynomials?

Question 2. Is it possible to reduce the condition “ $n \geq 6$ ” in Theorem E?

Question 3. Applying Theorem D, we cannot get Theorem C. So Theorem D is not a direct improvement of Theorem C to the case of meromorphic functions. Is it possible to obtain such a direct improvement?

2. RESULTS

To formulate our results, we introduce some notations.

The difference polynomial $H(z, f)$ of a meromorphic function $f(z)$ is defined by

$$H(z, f) = \sum_{\lambda \in J} a_\lambda(z) \prod_{j=1}^{\tau_\lambda} f(z + \delta_{\lambda,j})^{\mu_{\lambda,j}}, \tag{2.1}$$

where J is an index set, $\delta_{\lambda,j}$ are complex constants, $\mu_{\lambda,j}$ are non-negative integers, and the coefficients $a_\lambda(z) (\neq 0)$ are small meromorphic functions of $f(z)$.

The degree of the monomial $a_\lambda(z) \prod_{j=1}^{\tau_\lambda} f(z + \delta_{\lambda,j})^{\mu_{\lambda,j}}$ is defined by

$$d_\lambda = \sum_{j=1}^{\tau_\lambda} \mu_{\lambda,j}. \tag{2.2}$$

The degree of $H(z, f)$ is defined by

$$d_H = \deg_f H(z, f) = \max_{\lambda \in J} d_\lambda. \tag{2.3}$$

Let the different $\delta_{\lambda,j}$ in $H(z, f)$ be $\delta_1, \dots, \delta_m$, and let

$$\chi = \begin{cases} 1, & \text{if } \delta_s = 0 \text{ for some } s \in \{1, \dots, m\}, \\ 0, & \text{if } \delta_t \neq 0 \text{ for all } t = 1, \dots, m. \end{cases} \quad (2.4)$$

In this paper, we consider Questions 1–3 in the introduction section and obtain some results using different methods than [12–13]. Among our results, Theorem 2.1 and Corollary 2.1 answer Questions 1 and 3, and Corollary 2.2, Theorems 2.2, 2.3 and their corollaries offer partial results concerning Question 2.

Theorem 2.1. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$, let $H(z, f) (\neq 0)$ be a difference polynomial in $f(z)$ of the form (2.1) with $m \geq 1$ different $\delta_{\lambda,j}$, let d_H and χ be defined by (2.3) and (2.4) respectively, and let $n > md_H$ be an integer. If $s(z) \neq 0$ is a small meromorphic function of $f(z)$, then

$$2\bar{N}\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) \geq (n-1)T(r, f(z)) - (m-\chi)d_H N(r, f(z)) - (2m+1-2\chi)\bar{N}(r, f(z)) + S(r, f).$$

For a difference monomial

$$F(z, f) = f(z+c_1)^{i_1} f(z+c_2)^{i_2} \cdots f(z+c_m)^{i_m}, \quad (2.5)$$

where $m \geq 1$ is an integer, i_1, i_2, \dots, i_m are positive integers, and c_1, c_2, \dots, c_m are different non-zero complex constants, we obtain the following corollary.

Corollary 2.1. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$, let $F(z, f)$ be a difference monomial in $f(z)$ of the form (2.5), let $\deg_f F(z, f) = d_F$, and let $n > d_F$ be an integer. If $s(z) \neq 0$ is a small meromorphic function of $f(z)$, then

$$2\bar{N}\left(r, \frac{1}{f(z)^n F(z, f) - s(z)}\right) \geq (n-1)T(r, f(z)) - d_F N(r, f(z)) - (2m+1)\bar{N}(r, f(z)) + S(r, f).$$

Especially, if $F(z, f) = f(z+\eta)$ ($\eta \in \mathbb{C}/\{0\}$), then

$$2\bar{N}\left(r, \frac{1}{f(z)^n f(z+\eta) - s(z)}\right) \geq (n-1)T(r, f(z)) - N(r, f(z)) - 3\bar{N}(r, f(z)) + S(r, f).$$

Theorem 2.1 and Corollary 2.1 generalize Theorem D to difference polynomials and are direct improvements of Theorem C to meromorphic functions. Furthermore, using Corollary 2.1 we can get Corollary 2.2, which is a version to reduce the condition “ $n \geq 6$ ” in Theorem E.

Corollary 2.2. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$ and $\delta(\infty, f(z)) > \frac{1}{2}$, let η be a non-zero complex number, and let $n \geq 3$ be an integer. If $s(z) \neq 0$ is a small meromorphic function of $f(z)$, then $f(z)^n f(z+\eta) - s(z)$ has infinitely many zeros.

For the difference monomial (2.5), if the poles and zeros of $f(z)$ satisfy some conditions, we can obtain a better estimate.

Theorem 2.2. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$, let $F(z, f)$ be a difference monomial in $f(z)$ of the form (2.5), let $\deg_f F(z, f) = d_F$, and let $n > d_F$ be an integer.

Suppose that the poles z_i and zeros z_j of $f(z)$ satisfy $z_i - z_j \neq c_l$ ($l = 1, \dots, m$), except for finitely many exceptional poles and zeros. If $s(z) \neq 0$ is a small meromorphic function of $f(z)$, then

$$2\bar{N}\left(r, \frac{1}{f(z)^n F(z, f) - s(z)}\right) \geq (n - 1)T(r, f(z)) - (2m + 1)\bar{N}(r, f(z)) + S(r, f).$$

Corollary 2.3. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$, let η be a non-zero complex number, and let $n \geq 5$ be an integer. Suppose that the poles z_i and zeros z_j of $f(z)$ satisfy $z_i - z_j \neq c_l$ ($l = 1, \dots, m$), except for finitely many exceptional poles and zeros. If $s(z) \neq 0$ is a small meromorphic function of $f(z)$, then $f(z)^n f(z + \eta) - s(z)$ has infinitely many zeros.

At last, we estimate the zeros of $f(z)^n H(z, f) - s(z)$ under the assumption that $f(z)$ has two Borel exceptional values.

Theorem 2.3. Let $f(z)$ be a finite order transcendental meromorphic function with two Borel exceptional values $a, b \in \mathbb{C} \cup \{\infty\}$, let $H(z, f) (\neq 0)$ be a difference polynomial in $f(z)$ of the form (2.1) with $m \geq 1$ different $\delta_{\lambda, j}$, let d_λ and d_H be defined by (2.2) and (2.3) respectively, and let n be a positive integer. Suppose that $s(z) \neq 0$ is a small meromorphic function of $f(z)$.

(i) If $a, b \in \mathbb{C}$, $a^n \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} - s(z) \neq 0$, $b^n \sum_{\lambda \in J} a_\lambda(z) b^{d_\lambda} - s(z) \neq 0$ and $n > md_H$, then

$$N\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) \geq (n - md_H)T(r, f(z)) + S(r, f).$$

(ii) If $a \in \mathbb{C}, b = \infty$ and $a^n \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} - s(z) \neq 0$, then

$$N\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) \geq nT(r, f(z)) + S(r, f).$$

From Theorem 2.3, we can easily get the following corollary, which reduces the condition “ $n \geq 6$ ” to “ $n \geq 2$ ” for meromorphic functions with two Borel exceptional values.

Corollary 2.4. Let $f(z)$ be a finite order transcendental meromorphic function with two Borel exceptional values $a, b \in \mathbb{C} \cup \{\infty\}$, let η be a non-zero complex number, and let $n \geq 2$ be an integer. Suppose that $s(z) \neq 0$ is a small meromorphic function of $f(z)$, and that one of the following two conditions holds:

- (i) $a, b \in \mathbb{C}, a^{n+1} - s(z) \neq 0$ and $b^{n+1} - s(z) \neq 0$;
- (ii) $a \in \mathbb{C}, b = \infty$ and $a^{n+1} - s(z) \neq 0$.

Then $f(z)^n f(z + \eta) - s(z)$ has infinitely many zeros.

3. PROOF OF THEOREM 2.1

We need the following lemmas.

Lemma 3.1. (see [7]) Let $f(z)$ be a non-constant meromorphic function and $c \in \mathbb{C}$. If $\sigma_2(f) < 1$ and $\varepsilon > 0$, then

$$m\left(r, \frac{f(z+c)}{f(z)}\right) = o\left(\frac{T(r, f(z))}{r^{1-\sigma_2(f)-\varepsilon}}\right)$$

for all r outside of a set E of finite logarithmic measure.

By [14, Lemma 1], [15, p. 66] and [7, Lemma 8.3], we immediately deduce the following lemma.

Lemma 3.2. Let $f(z)$ be a non-constant meromorphic function of $\sigma_2(f) < 1$, and let $c \neq 0$ be an arbitrary complex number. Then

$$\begin{aligned} T(r, f(z+c)) &= T(r, f(z)) + S(r, f), \\ N(r, f(z+c)) &= N(r, f(z)) + S(r, f), \\ \overline{N}(r, f(z+c)) &= \overline{N}(r, f(z)) + S(r, f). \end{aligned}$$

Applying logarithmic derivative lemma and Lemma 3.1 to Theorem 2.3 of [8], we get the following lemma.

Lemma 3.3. Let $f(z)$ be a transcendental meromorphic solution of hyper order $\sigma_2(f) < 1$ of a differential-difference equation of the form

$$U(z, f)P(z, f) = Q(z, f),$$

where $U(z, f)$ is a difference polynomial in $f(z)$ with small meromorphic coefficients, $P(z, f)$ and $Q(z, f)$ are differential-difference polynomials in $f(z)$ such that the proximity functions of the coefficients of $P(z, f)$ and $Q(z, f)$ are of the type $S(r, f)$. Assume that $\deg_f U(z, f) = n$, $\deg_f Q(z, f) \leq n$ and $U(z, f)$ contains just one term of maximal total degree in $f(z)$ and its shifts. Then

$$m(r, P(z, f)) = S(r, f).$$

Using a similar proof as in [16, Theorem 1.1] or [17, Lemma 2], we get the following lemma.

Lemma 3.4. Let $f(z)$ be a transcendental meromorphic function satisfying $\sigma_2(f) < 1$, let $H(z, f) (\neq 0)$ be a difference polynomial in $f(z)$ of the form (2.1) with $m \geq 1$ different $\delta_{\lambda, j}$, let $F(z, f)$ be a difference monomial in $f(z)$ of the form (2.5), and let $\deg_f H(z, f) = d_H$ and $\deg_f F(z, f) = d_F$. Then

$$T(r, H(z, f)) \leq md_H T(r, f(z)) + S(r, f), \quad (3.1)$$

$$T(r, F(z, f)) \leq d_F T(r, f(z)) + S(r, f). \quad (3.2)$$

From the proof of [17, Lemma 2], we get the following lemma.

Lemma 3.5. Let f_1, f_2, \dots, f_n be meromorphic functions. Then

$$N\left(r, \sum_{\lambda \in I} f_1^{i_{\lambda,1}} f_2^{i_{\lambda,2}} \dots f_n^{i_{\lambda,n}}\right) \leq \sum_{i=1}^n \sigma N(r, f_i),$$

where $I = \{(i_{\lambda,1}, i_{\lambda,2}, \dots, i_{\lambda,n})\}$ is an index set, and $\sigma = \max_{\lambda \in I} \{i_{\lambda,1} + i_{\lambda,2} + \dots + i_{\lambda,n}\}$.

Proof of Theorem 2.1. Set

$$\psi(z) = f(z)^n H(z, f) - s(z). \quad (3.3)$$

First observe that $\psi(z) \not\equiv 0$. Indeed, if $\psi(z) \equiv 0$, then

$$H(z, f) \equiv \frac{s(z)}{f(z)^n}. \quad (3.4)$$

Since $n > md_H$, comparing the characteristic functions of both sides of (3.4) and using (3.1) of Lemma 3.4, we get a contradiction. So $\psi(z) \not\equiv 0$.

Differentiating both sides of (3.3), we obtain

$$\psi'(z) = nf(z)^{n-1} f'(z) H(z, f) + f(z)^n H'(z, f) - s'(z). \quad (3.5)$$

Since $\psi(z) \neq 0$, multiplying both sides of (3.3) by $\frac{\psi'(z)}{\psi(z)}$, we get

$$\psi'(z) = \frac{\psi'(z)}{\psi(z)} f(z)^n H(z, f) - \frac{\psi'(z)}{\psi(z)} s(z). \quad (3.6)$$

Subtracting (3.5) from (3.6), we get

$$f(z)^{n-1} E(z) = s'(z) - \frac{\psi'(z)}{\psi(z)} s(z), \quad (3.7)$$

where

$$E(z) = n f'(z) H(z, f) - \frac{\psi'(z)}{\psi(z)} f(z) H(z, f) + f(z) H'(z, f). \quad (3.8)$$

We affirm that $E(z) \neq 0$. Otherwise, since $s(z) \neq 0$, it follows from (3.7) that

$$\frac{\psi'(z)}{\psi(z)} = \frac{s'(z)}{s(z)},$$

which gives $\psi(z) = C_1 s(z)$, where C_1 is a non-zero constant. Substituting $\psi(z) = C_1 s(z)$ into (3.3), we get

$$H(z, f) = \frac{(C_1 + 1)s(z)}{f(z)^n}. \quad (3.9)$$

Similarly as in (3.4), by (3.9) and (3.1), we get a contradiction. So $E(z) \neq 0$.

By (3.1), we have $T(r, \psi(z)) \leq (n + md_H)T(r, f(z)) + S(r, f)$. So

$$m\left(r, \frac{\psi'(z)}{\psi(z)}\right) = S(r, \psi) = S(r, f). \quad (3.10)$$

Applying Lemma 3.3 to (3.7), we have

$$m(r, E(z)) = S(r, f). \quad (3.11)$$

Next we estimate $N(r, E(z))$. By (3.8), we see that the poles of $E(z)$ come from the poles of $f(z)$, the poles of $H(z, f)$, and the poles of $\frac{\psi'(z)}{\psi(z)}$. We denote by $N(r, |E(z) = f(z) = \infty)$ the counting function of those common poles of $E(z)$ and $f(z)$ in $|z| < r$, where each such point is counted according to its multiplicity in $E(z)$, denote by $N(r, |E(z) = H(z, f) = \infty, f(z) \neq \infty)$ the counting function of those common poles of $E(z)$ and $H(z, f)$ in $|z| < r$, where each such point is not a pole of $f(z)$, and each such point is counted according to its multiplicity in $E(z)$, and denote by $N(r, |E(z) = \frac{\psi'(z)}{\psi(z)} = \infty, f(z) \neq \infty, H(z, f) \neq \infty)$ the counting function of those common poles of $E(z)$ and $\frac{\psi'(z)}{\psi(z)}$ in $|z| < r$, where each such point is not a pole of $f(z)$ or a pole of $H(z, f)$, and each such point is counted according to its multiplicity in $E(z)$. Then

$$\begin{aligned} N(r, E(z)) &= N(r, |E(z) = f(z) = \infty) \\ &\quad + N(r, |E(z) = H(z, f) = \infty, f(z) \neq \infty) \\ &\quad + N\left(r, |E(z) = \frac{\psi'(z)}{\psi(z)} = \infty, f(z) \neq \infty, H(z, f) \neq \infty\right). \end{aligned} \quad (3.12)$$

Suppose that z_0 is a pole of $E(z)$ with order k .

If z_0 is a pole of $f(z)$ with order p , by (3.7), $n \geq 2$ and the fact that $\frac{\psi'(z)}{\psi(z)}$ has at most simple poles, we see that z_0 must be a pole of $s(z)$ with order q and $k + (n - 1)p \leq q + 1$. We then deduce from $n \geq 2$ that $k \leq q$. So

$$N(r, |E(z) = f(z) = \infty) \leq N(r, s(z)) = S(r, f). \quad (3.13)$$

If z_0 is not a pole of $f(z)$ and z_0 is a pole of $H(z, f)$ with order l , then by (3.8) and the fact that $\frac{\psi'(z)}{\psi(z)}$ has at most simple poles, we see that $k \leq l + 1$.

We denote by $N(r, |H(z, f) = \infty, f(z) \neq \infty)$ the counting function of those poles of $H(z, f)$ in $|z| < r$, where each such point is not a pole of $f(z)$, and each such point is counted according to its multiplicity in $H(z, f)$, and denote by $\bar{N}(r, |H(z, f) = \infty, f(z) \neq \infty)$ the counting function of those poles of $H(z, f)$ in $|z| < r$, where each such point is not a pole of $f(z)$, and each such point is counted one time. Then

$$\begin{aligned} & N(r, |E(z) = H(z, f) = \infty, f(z) \neq \infty) \\ & \leq N(r, |H(z, f) = \infty, f(z) \neq \infty) + \bar{N}(r, |H(z, f) = \infty, f(z) \neq \infty). \end{aligned} \quad (3.14)$$

We will prove that

$$N(r, |H(z, f) = \infty, f(z) \neq \infty) \leq (m - \chi)d_H N(r, f(z)) + S(r, f). \quad (3.15)$$

Let the different δ_{λ_j} in $H(z, f)$ be $\delta_1, \dots, \delta_m$. If $\delta_t \neq 0$ for all $t = 1, \dots, m$, then $f(z)$ is not contained in $H(z, f)$ and by (2.4) we have $\chi = 0$. Since the coefficients of $H(z, f)$ are small functions of $f(z)$ and the degree of $H(z, f)$ is d_H , we deduce from Lemma 3.5 that

$$N(r, |H(z, f) = \infty, f(z) \neq \infty) = N(r, H(z, f)) \leq \sum_{j=1}^m d_H N(r, f(z + \delta_j)) + S(r, f).$$

So by Lemma 3.2 and $\chi = 0$, we have

$$N(r, |H(z, f) = \infty, f(z) \neq \infty) \leq (m - \chi)d_H N(r, f(z)) + S(r, f).$$

If $\delta_s = 0$ for some $s \in \{1, \dots, m\}$, then $f(z + \delta_s) = f(z)$ and by (2.4) we have $\chi = 1$. Since the coefficients of $H(z, f)$ are small functions of $f(z)$ and the degree of $H(z, f)$ is d_H , we deduce from Lemma 3.5 that

$$\begin{aligned} & N(r, |H(z, f) = \infty, f(z) \neq \infty) \\ & \leq d_H N(r, f(z + \delta_1)) + \dots + d_H N(r, f(z + \delta_{s-1})) + d_H N(r, f(z + \delta_{s+1})) \\ & \quad + \dots + d_H N(r, f(z + \delta_m)) + S(r, f) \\ & = \sum_{j=1}^m d_H N(r, f(z + \delta_j)) - d_H N(r, f(z + \delta_s)) + S(r, f). \end{aligned}$$

So by Lemma 3.2, $\chi = 1$ and $f(z + \delta_s) = f(z)$, we have

$$N(r, |H(z, f) = \infty, f(z) \neq \infty) \leq (m - \chi)d_H N(r, f(z)) + S(r, f).$$

Therefore, we proved that (3.15) holds. Similarly, we can prove that

$$\begin{aligned} & \bar{N}(r, |H(z, f) = \infty, f(z) \neq \infty) \\ & \leq \sum_{j=1}^m \bar{N}(r, f(z + \delta_j)) - \chi \bar{N}(r, f(z)) + S(r, f) \\ & = (m - \chi)\bar{N}(r, f(z)) + S(r, f). \end{aligned} \quad (3.16)$$

If z_0 is not a pole of $f(z)$ and z_0 is not a pole of $H(z, f)$, then z_0 must be a pole of $\frac{\psi'(z)}{\psi(z)}$. Since $\frac{\psi'(z)}{\psi(z)}$ has at most simple poles, we deduce from (3.8) that $k = 1$. The poles of $\frac{\psi'(z)}{\psi(z)}$ come from the poles of $\psi(z)$ and the zeros of $\psi(z)$. If z_0 is a pole of $\psi(z)$, then by (3.3), we see that z_0 must be a pole of $s(z)$. So

$$N\left(r, |E(z) = \frac{\psi'(z)}{\psi(z)} = \infty, f(z) \neq \infty, H(z, f) \neq \infty\right)$$

$$\begin{aligned} &\leq \bar{N}(r, s(z)) + \bar{N}\left(r, \frac{1}{\psi(z)}\right) \\ &= \bar{N}\left(r, \frac{1}{\psi(z)}\right) + S(r, f). \end{aligned} \quad (3.17)$$

We deduce from (3.11)–(3.17) that

$$T(r, E(z)) \leq (m - \chi)d_H N(r, f(z)) + (m - \chi)\bar{N}(r, f(z)) + \bar{N}\left(r, \frac{1}{\psi(z)}\right) + S(r, f). \quad (3.18)$$

By (3.7) and (3.10), we get

$$\begin{aligned} (n - 1)T(r, f(z)) &\leq T(r, E(z)) + T\left(r, \frac{\psi'(z)}{\psi(z)}\right) + S(r, f) \\ &= T(r, E(z)) + N\left(r, \frac{\psi'(z)}{\psi(z)}\right) + S(r, f) \\ &= T(r, E(z)) + \bar{N}\left(r, \frac{1}{\psi(z)}\right) + \bar{N}(r, \psi(z)) + S(r, f). \end{aligned} \quad (3.19)$$

Since $H(z, f)$ has m different $\delta_{\lambda, j}$ and χ is defined by (2.4), we deduce from (3.3) and Lemma 3.2 that

$$\begin{aligned} \bar{N}(r, \psi(z)) &\leq \bar{N}(r, f(z)) + \bar{N}(r, H(z, f)) - \chi\bar{N}(r, f(z)) + S(r, f) \\ &\leq (1 + m - \chi)\bar{N}(r, f(z)) + S(r, f). \end{aligned} \quad (3.20)$$

We deduce from (3.18)–(3.20) that

$$\begin{aligned} &2\bar{N}\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) \\ &= 2\bar{N}\left(r, \frac{1}{\psi(z)}\right) \geq (n - 1)T(r, f(z)) - (m - \chi)d_H N(r, f(z)) \\ &\quad - (2m + 1 - 2\chi)\bar{N}(r, f(z)) + S(r, f). \end{aligned}$$

4. PROOF OF THEOREM 2.2

Set

$$\psi(z) = f(z)^n F(z, f) - s(z).$$

Since $n > d_F$, we deduce from (3.2) of Lemma 3.4 that $\psi(z) \not\equiv 0$. Since $F(z, f)$ is a special case of $H(z, f)$, we also have (3.5)–(3.12), where $H(z, f)$ is replaced by $F(z, f)$. Next we discuss each term in (3.12).

Suppose that z_0 is a pole of $E(z)$ with order k .

If z_0 is a pole of $f(z)$, as in (3.13) of Theorem 2.1, we get

$$N(r, |E(z) = f(z) = \infty) \leq N(r, s(z)) = S(r, f). \quad (4.1)$$

If z_0 is not a pole of $f(z)$ and z_0 is a pole of $F(z, f)$, then z_0 must be a pole of $f(z + c_l)$ for some $l \in \{1, \dots, m\}$. So $z_0 + c_l$ is a pole of $f(z)$. Since the poles z_i and zeros z_j of $f(z)$ satisfy $z_i - z_j \neq c_l$ ($l = 1, \dots, m$), except for finitely many exceptional poles and zeros, we will assume that z_0 is not a zero of $f(z)$. So, when estimating $N(r, |E(z) = F(z, f) = \infty, f(z) \neq \infty)$, we may have an error term of the type $O(\log r)$. Since $f(z_0) \neq 0, \infty$, we see that z_0 is a pole of $f(z)^{n-1}E(z)$ with order k . By (3.7), we

see that z_0 is a pole of $\frac{\psi'(z)}{\psi(z)}$ with order 1 and $k = 1$, or z_0 is a pole of $s(z)$ with order q and $k \leq q + 1$. Therefore,

$$N(r, |E(z) = F(z, f) = \infty, f(z) \neq \infty) \leq \bar{N}(r, F(z, f)) + N(r, s(z)) + \bar{N}(r, s(z)) + O(\log r).$$

By Lemma 3.2, we have

$$\bar{N}(r, F(z, f)) \leq \sum_{j=1}^m \bar{N}(r, f(z + c_j)) = m\bar{N}(r, f(z)) + S(r, f). \quad (4.2)$$

If z_0 is not a pole of $f(z)$ and z_0 is not a pole of $F(z, f)$, then z_0 must be a pole of $\frac{\psi'(z)}{\psi(z)}$. As in (3.17) of Theorem 2.1, we get

$$N\left(r, |E(z) = \frac{\psi'(z)}{\psi(z)} = \infty, f(z) \neq \infty, F(z, f) \neq \infty\right) \leq \bar{N}\left(r, \frac{1}{\psi(z)}\right) + S(r, f). \quad (4.3)$$

By (3.11), (3.12) and (4.1)–(4.3), we get

$$T(r, E(z)) \leq m\bar{N}(r, f(z)) + \bar{N}\left(r, \frac{1}{\psi(z)}\right) + S(r, f). \quad (4.4)$$

By (3.7) and (3.10), we get

$$(n-1)T(r, f(z)) \leq T(r, E(z)) + \bar{N}\left(r, \frac{1}{\psi(z)}\right) + \bar{N}(r, \psi(z)) + S(r, f). \quad (4.5)$$

Since $F(z, f) = f(z + c_1)^{i_1} \cdots f(z + c_m)^{i_m}$, $\psi(z) = f(z)^n F(z, f) - s(z)$ and c_1, \dots, c_m are different non-zero complex constants, we deduce from Lemma 3.2 that

$$\begin{aligned} \bar{N}(r, \psi(z)) &\leq \bar{N}(r, f(z)) + \bar{N}(r, F(z, f)) + S(r, f) \\ &\leq (1+m)\bar{N}(r, f(z)) + S(r, f). \end{aligned} \quad (4.6)$$

We deduce from (4.4)–(4.6) that

$$\begin{aligned} &2\bar{N}\left(r, \frac{1}{f(z)^n F(z, f) - s(z)}\right) \\ &= 2\bar{N}\left(r, \frac{1}{\psi(z)}\right) \geq (n-1)T(r, f(z)) - (2m+1)\bar{N}(r, f(z)) + S(r, f). \end{aligned}$$

5. PROOF OF THEOREM 2.3

We need the following lemma.

Lemma 5.1.(see [18]) Suppose that h is a non-constant meromorphic function satisfying

$$\bar{N}(r, h) + \bar{N}(r, 1/h) = S(r, h).$$

Let $f = a_0 h^p + a_1 h^{p-1} + \cdots + a_p$, and $g = b_0 h^q + b_1 h^{q-1} + \cdots + b_q$ be polynomials in h with coefficients $a_0, a_1, \dots, a_p, b_0, b_1, \dots, b_q$ being small functions of h and $a_0 b_0 a_p \neq 0$. If $q \leq p$, then $m(r, g/f) = S(r, h)$.

Proof of Theorem 2.3. Set

$$\psi(z) = f(z)^n H(z, f) - s(z). \quad (5.1)$$

First we assume that the condition (i) in Theorem 2.3 holds. Let

$$g(z) = \frac{f(z) - a}{f(z) - b}.$$

Then $0, \infty$ are two Borel exceptional values of $g(z)$. By Hadamard factorization theorem, $g(z)$ takes the form

$$g(z) = w(z)e^{h(z)},$$

where $w(z)$ is a meromorphic function such that $\sigma(w(z)) < \sigma(g(z))$, and $h(z)$ is a polynomial such that $\sigma(g(z)) = \deg h(z) \geq 1$. So

$$f(z) = \frac{bw(z)e^{h(z)} - a}{w(z)e^{h(z)} - 1}, \quad f(z)^n = \frac{b^n w(z)^n e^{nh(z)} + \dots + (-a)^n}{w(z)^n e^{nh(z)} + \dots + (-1)^n}. \quad (5.2)$$

Denoting

$$W_\lambda(z) = w(z + \delta_{\lambda,1})^{\mu_{\lambda,1}} \dots w(z + \delta_{\lambda,\tau_\lambda})^{\mu_{\lambda,\tau_\lambda}}$$

and substituting (5.2) into $H(z, f)$, we get

$$\begin{aligned} H(z, f) &= \sum_{\lambda \in J} a_\lambda(z) \prod_{j=1}^{\tau_\lambda} \frac{b^{\mu_{\lambda,j}} w(z + \delta_{\lambda,j})^{\mu_{\lambda,j}} e^{\mu_{\lambda,j} h(z + \delta_{\lambda,j})} + \dots + (-a)^{\mu_{\lambda,j}}}{w(z + \delta_{\lambda,j})^{\mu_{\lambda,j}} e^{\mu_{\lambda,j} h(z + \delta_{\lambda,j})} + \dots + (-1)^{\mu_{\lambda,j}}} \\ &= \sum_{\lambda \in J} a_\lambda(z) \frac{b^{\mu_{\lambda,1} + \dots + \mu_{\lambda,\tau_\lambda}} W_\lambda(z) e^{\mu_{\lambda,1} h(z + \delta_{\lambda,1}) + \dots + \mu_{\lambda,\tau_\lambda} h(z + \delta_{\lambda,\tau_\lambda})} + \dots + (-a)^{\mu_{\lambda,1} + \dots + \mu_{\lambda,\tau_\lambda}}}{W_\lambda(z) e^{\mu_{\lambda,1} h(z + \delta_{\lambda,1}) + \dots + \mu_{\lambda,\tau_\lambda} h(z + \delta_{\lambda,\tau_\lambda})} + \dots + (-1)^{\mu_{\lambda,1} + \dots + \mu_{\lambda,\tau_\lambda}}}. \end{aligned}$$

Denoting

$$s_\lambda(z) = W_\lambda(z) e^{\mu_{\lambda,1}(h(z + \delta_{\lambda,1}) - h(z))} \dots e^{\mu_{\lambda,\tau_\lambda}(h(z + \delta_{\lambda,\tau_\lambda}) - h(z))},$$

we have

$$\begin{aligned} H(z, f) &= \sum_{\lambda \in J} a_\lambda(z) \frac{b^{d_\lambda} s_\lambda(z) e^{d_\lambda h(z)} + \dots + (-a)^{d_\lambda}}{s_\lambda(z) e^{d_\lambda h(z)} + \dots + (-1)^{d_\lambda}} \\ &= \frac{\left(\sum_{\lambda \in J} a_\lambda(z) b^{d_\lambda} \right) \prod_{\lambda \in J} s_\lambda(z) e^{\sum_{\lambda \in J} d_\lambda h(z)} + \dots + \left(\sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} \right) (-1)^{\sum_{\lambda \in J} d_\lambda}}{\prod_{\lambda \in J} s_\lambda(z) e^{\sum_{\lambda \in J} d_\lambda h(z)} + \dots + (-1)^{\sum_{\lambda \in J} d_\lambda}}. \quad (5.3) \end{aligned}$$

By (5.1)–(5.3) and denoting $S(z) = \prod_{\lambda \in J} s_\lambda(z)$, $D = \sum_{\lambda \in J} d_\lambda$, we get

$$\begin{aligned} \psi(z) &= \frac{b^n w(z)^n \left(\sum_{\lambda \in J} a_\lambda(z) b^{d_\lambda} \right) S(z) e^{(n+D)h(z)} + \dots + \left(\sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} \right) (-a)^n (-1)^D}{w(z)^n S(z) e^{(n+D)h(z)} + \dots + (-1)^{n+D}} - s(z) \\ &= \frac{\left(b^n \sum_{\lambda \in J} a_\lambda(z) b^{d_\lambda} - s(z) \right) w(z)^n S(z) e^{(n+D)h(z)} + \dots + (-1)^{n+D} \left(a^n \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} - s(z) \right)}{w(z)^n S(z) e^{(n+D)h(z)} + \dots + (-1)^{n+D}}. \quad (5.4) \end{aligned}$$

We see that $\psi(z)$ is a rational function in $e^{h(z)}$ and the coefficients in (5.4) are all small functions of $e^{h(z)}$. Since $a^n \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} - s(z) \neq 0$ and $b^n \sum_{\lambda \in J} a_\lambda(z) b^{d_\lambda} - s(z) \neq 0$, by Lemma 5.1, we get

$$m\left(r, \frac{1}{\psi(z)}\right) = S(r, e^{h(z)}) = S(r, f).$$

Moreover, by (5.1) and Lemma 3.4, we have

$$nT(r, f(z)) = T\left(r, \frac{\psi(z) + s(z)}{H(z, f)}\right) \leq T(r, \psi(z)) + md_H T(r, f(z)) + S(r, f).$$

So

$$N\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) = N\left(r, \frac{1}{\psi(z)}\right) \geq (n - md_H)T(r, f(z)) + S(r, f).$$

Now we assume that the condition (ii) in Theorem 2.3 holds. Then $f(z)$ takes the form

$$f(z) = w(z)e^{h(z)} + a, \quad (5.5)$$

where $w(z)$ is a meromorphic function such that $\sigma(w(z)) < \sigma(f(z))$, and $h(z)$ is a polynomial such that $\sigma(f(z)) = \deg h(z) \geq 1$. Substituting (5.5) into $f(z)^n$, we get

$$f(z)^n = w(z)^n e^{nh(z)} + \dots + a^n. \quad (5.6)$$

Using the notations $W_\lambda(z)$ and $s_\lambda(z)$ as above and substituting (5.5) into $H(z, f)$, we get

$$\begin{aligned} H(z, f) &= \sum_{\lambda \in J} a_\lambda(z) \prod_{j=1}^{\tau_\lambda} (w(z + \delta_{\lambda,j})^{\mu_{\lambda,j}} e^{\mu_{\lambda,j} h(z + \delta_{\lambda,j})} + \dots + a^{\mu_{\lambda,j}}) \\ &= \sum_{\lambda \in J} a_\lambda(z) (W_\lambda(z) e^{\mu_{\lambda,1} h(z + \delta_{\lambda,1}) + \dots + \mu_{\lambda,\tau_\lambda} h(z + \delta_{\lambda,\tau_\lambda})} + \dots + a^{\mu_{\lambda,1} + \dots + \mu_{\lambda,\tau_\lambda}}) \\ &= \sum_{\lambda \in J} a_\lambda(z) (s_\lambda(z) e^{d_\lambda h(z)} + \dots + a^{d_\lambda}). \end{aligned}$$

Since $H(z, f) \not\equiv 0$ and $d_H = \max_{\lambda \in J} d_\lambda$, we see that $H(z, f)$ takes the form

$$H(z, f) = \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda} \neq 0 \quad (5.7)$$

or

$$H(z, f) = l_q(z) e^{qh(z)} + \dots + l_1(z) e^{h(z)} + \sum_{\lambda \in J} a_\lambda(z) a^{d_\lambda}, \quad 1 \leq q \leq d_H, \quad (5.8)$$

where $l_j(z)$ ($j = 1, \dots, q$) are all small functions of $e^{h(z)}$ and $l_q(z) \not\equiv 0$.

If (5.7) holds, by (5.1), (5.6) and Lemma 5.1, we get

$$N\left(r, \frac{1}{\psi(z)}\right) = nT(r, f(z)) + S(r, f).$$

If (5.8) holds, by (5.1), (5.6) and Lemma 5.1, we get

$$N\left(r, \frac{1}{\psi(z)}\right) = (n + q)T(r, f(z)) + S(r, f), \quad 1 \leq q \leq d_H.$$

Therefore,

$$N\left(r, \frac{1}{f(z)^n H(z, f) - s(z)}\right) = N\left(r, \frac{1}{\psi(z)}\right) \geq nT(r, f(z)) + S(r, f).$$

Acknowledgments. The authors thank the referees for their valuable comments and suggestions. This work was supported by the National Natural Science Foundation of China (No. 11801093, No. 11871260) and Guangdong National Natural Science Foundation of China (No. 2016A030313745, No. 2018A030313508).

REFERENCES

1. Hayman, W. K., Meromorphic functions, Oxford: Clarendon Press, 1964.
2. Laine, I., Nevanlinna theory and complex differential equations, Berlin: W. de Gruyter, 1993.
3. Hayman, W. K., Picard values of meromorphic functions and their derivatives, *Ann. of Math.*, 1959, vol. 70, no. 2, pp. 9–42.
4. Chiang, Y. M. and Feng, S. J., On the Nevanlinna characteristic of $f(z + \eta)$ and difference equations in the complex plane, *Ramanujan J.*, 2008, vol. 16, no. 1, pp. 105–129.
5. Halburd, R. G. and Korhonen, R. J., Difference analogue of the lemma on the logarithmic derivative with applications to difference equations, *J. Math. Anal. Appl.*, 2006, vol. 314, no. 2, pp. 477–487.
6. Halburd, R. G. and Korhonen, R. J., Nevanlinna theory for the difference operator, *Ann. Acad. Sci. Fenn. Math.*, 2006, vol. 31, no. 2, pp. 463–478.
7. Halburd, R. G., Korhonen, R. J., and Tohge, K., Holomorphic curves with shift-invariant hyper-plane preimages, *Trans. Amer. Math. Soc.*, 2014, vol. 366, no. 8, pp. 4267–4298.
8. Laine, I. and Yang, C. C., Clunie theorems for difference and q -difference polynomials, *J. Lond. Math. Soc.*, 2007, vol. 76, no. 3, pp. 556–566.
9. Laine, I. and Yang, C. C., Value distribution of difference polynomials, *Proc. Japan Acad.*, 2007, vol. 83, no. 8, pp. 148–151.
10. Liu, K. and Yang, L. Z., Value distribution of the difference operator, *Arch. Math.*, 2009, vol. 92, no. 3, pp. 270–278.
11. Zheng, X. M. and Chen, Z. X., On the value distribution of some difference polynomials, *J. Math. Anal. Appl.*, 2013, vol. 397, no. 2, pp. 814–821.
12. Li, X. M., Yi, H. X., and Li, W. L., Value distribution of certain difference polynomials of meromorphic functions, *Rocky Mountain J. Math.*, 2014, vol. 44, no. 2, pp. 599–632.
13. Liu, K., Liu, X. L., and Cao, T. B., Value distributions and uniqueness of difference polynomials, *Adv. Difference Equ.*, 2011, Article ID 234215, 12 pages.
14. Ablowitz, M. J., Halburd, R. G., and Herbst, B., On the extension of the Painlevé property to difference equations, *Nonlinearity*, 2000, vol. 13, no. 3, pp. 889–905.
15. Gol'dberg, A. A. and Ostrovskii, I. V., Distribution of values of meromorphic functions, Moscow: Nauka, 1970.
16. Zhang, R. R. and Chen, Z. X., Value distribution of difference polynomials of meromorphic functions, *Sci. Sin. Math.*, 2012, vol. 42, no. 11, pp. 1115–1130 (in Chinese).
17. Zheng, X. M. and Chen, Z. X., Some properties of meromorphic solutions of q -difference equations, *J. Math. Anal. Appl.*, 2010, vol. 361, no. 2, pp. 472–480.
18. Li, P. and Wang, W. J., Entire functions that share a small function with its derivative, *J. Math. Anal. Appl.*, 2007, vol. 328, no. 1, pp. 743–751.